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ENGLISH

Holiday homework for class 9

1. Your school organized a free eye camp for the students of your school during autumn break.
Well known eye specialists were invited on this ocassion. Write a descriptive paragraph of
this camp in about 100-150 words.

2. Read the passage and answer the questions that follow:

Australia’s 2019-2020 Bushfire Season was not Normal

Data from satellite sources assembled by the United Nations Environment Programme’s (UNEP)
World Environment Situation Room confirms that the wildfires in Australia in the last two months of
2019 and the first six weeks of 2020 were far from normal. 2019 was the second hottest year on
record since 1880, and Australia recorded its warmest temperatures ever in December 2019.Rising
temperatures continue to melt records. The past decade was the hottest on record. Scientists tell us
that ocean temperatures are now rising at the equivalent of five Hiroshima bombs a second. One
million species are in near-term danger of extinction. Our planet is burning,” says United Nations
Secretary-General Anténio Guterres.

“The trend is very clear: 37 of the last 40 years were the warmest recorded since 1880, and the six
warmest years recorded were the last six years,” says Pascal Peduzzi, Director of UNEP’s Global
Resource Information Database in Geneva. “For those who think Australia is always burning, graphs
clearly show that these fires were exceptional.”This service, accessible via the UNEP’s World
Environment Situation Room, is provided for all countries at national and provincial levels. It
identifies trends in wildfire activity since 2003, when the data first became available and monitoring
began. We have sliced and diced the satellite-based data on wildfires worldwide from 2009 to the
present day. We analyse the wildfires’ data by month, type of land cover, protected area, province
and nation to produce information products,” Peduzzi adds. (Source: UN Environment)

Choose the correct option to answer the questions based on the above passage and graphics. Do any
ten.

(a) What do the reports confirm about the 2019-20 Australian fires?
(i) the fires were not normal

(i) the fires were normal

(iii) the fires were natural

(iv) data inconclusive

(b) What was the difference in the recorded temperatures in 2019 from the 1880s?

(i) 2019 recorded the wettest temperatures since 1880s



(ii) 2019 recorded the hottest temperatures ever

(iii) 2019 recorded the cooler temperatures than 1880s

(iv) 2019 recorded the warmest temperatures since 1880s

(c) What comparison has been made between the rising sea temperatures and Hiroshima?
(i) ocean temperatures are rising at the equivalent of three Hiroshima bombs a second

(ii) ocean temperatures are rising at the equivalent of five Hiroshima bombs a second

(iii) ocean temperatures are rising at the equivalent of five Hiroshima bombs an hour

(iv) none of these

(d) Choose the option that lists the CORRECT answers for the following:

“Rising temperatures continue to melt records. The past decade was the hottest on record.
Scientists tell us that ocean temperatures are now rising at the equivalent of five Hiroshima

bombs a second”. Whose statement is this?

“The trend is very clear: 37 of the last 40 years were the warmest recorded since 1880, and
the six warmest years recorded were the last six years.” Whose statement is this?

(i) (1) is from United Nations Secretary and (2) is from the UN President

(i) (1) is from the UN President and (2) is from the UN General Secretary

(iii) (1) is from United Nations Secretary and (2) is from the Director of UNEP

(iv) (1) is from the UN General Secretary and (2) is from the UN President

(e) Based on your understanding of the passage, choose the option that lists the inherent qualities of
climate in the present times.

(i1and 3

(i) 2and 6

(iii) 3and 4

(iv)5and 6

(f) Which of the following independent data source is NOT PRESENT in the given graph?
(i) NASA

(i) NOAA

(iii) ISRO



(iv) JMA

(g) Choose the option that lists the CORRECT statement.

(i) Pascal Peduzzi is the Director of UNEP’s Global Renaissance Information Database
(i) Pascal Peduzzi is the Director of UNO’s Global Resource Information Database
(iii) Pascal Peduzzi is the Manager of UNEP’s Global Resource Information Database

(iv) Pascal Peduzzi is the Director of UNEP’s Global Resource Information Database

(h) How can you say that the UN is concerned about the rising numbers of coal plants?

(i) UNDP Secretary General Antdnio Guterres is calling for curbs on new plants

(ii) UN Secretary General Anténio Guterres is calling for curbs on new plants

(iii) UN Executive Secretary Antonio Guterres is calling for curbs on new plants

(iv) UN Secretary General Antony Guterres is calling for curbs on new plants

(i) UNEP’s World Environment Situation Room has been tracking the world temperatures since.
(i) 2003

(i) 2013

(iii) 2000

(iv) 2001

(j) The graph compiled with data from four different sources shows that the global surface
temperatures have been _.

(i) steady
(ii) falling
(iii) on the rise

(iv) none of these

(k) Which word in the passage means the same as “collect”?
(i) assembled

(i) extinction

(iii) exceptional

(iv) provincial



() Which word in the passage is opposite to the meaning of ‘vague/murky’?
(i) assembled

(ii) clear

(iii) extinction

(iv) provincial

3.Fill in the blanks with the appropriate modal.

Mohan is not keeping well nowadays. He (a) ......cccevevenees see the doctor immediately. He

(o) I get well unless he visits a doctor. He (c) .................... be suffering from viral fever. He
(< ) I take proper medicine and rest lest he (€) ....c.cccevuueeee.. fall seriously ill. It (f) coeeveveeeinee.
affect not only his health but studies also.

HOLIDAY HOMEWORK
Class-IX SST

1- Complete your project work- Disaster Management and submit on dt-13.10.22
(Those who have not submitted yet. It is compulsory for internal marks)

2- On World map locate all the countries of Allied powers and Axis power
(Paste it in homework copy)

3-Write the textual question answers for all completed chapters in Homework copy and
submit on dt-13.10.22

4-Write an Article on Non-Violence day

(on %th chart paper with pictures)
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HOLIDAY HOMEWORK
CLASS: IX SUBJECT : MATHEMATICS

Write all the properties of a parallelogram.

Prove that in a parallelogram opposite sides are equal.

Prove that diagonal of a parallelogram divide it into two congruent triangles.
Show that in a parallelogram diagonal bisect each other.

Write all the properties of a rectangle.

Prove that diagonals of a rectangle are equal in measure.

The angles of a quadrilateral are in ratio 3:5:9:13. Find the angles

In a parallelogram if diagonals are equal, then prove that it is a rectangle.

Sl S

HOLIDAY HOMEWORK
CLASS: IX SUBJECT : SCIENCE

BIOLOGY

1.Explain the structure and function of the following cell organelles
a. Mitochondria

b. Golgi Apparatus

c. Nucleus

2. Differentiate between meristematic tissue and permanent tissue.
3. Compare between three different types of muscles in a tabular form
4. Draw the labelled diagram of

a. A typical plant cell

b. A typical animal cell

c. A neuron

PHYSICS



1 What happens to the force between two objects, if

(i) the mass of one object is doubled?

(ii) the distance between the objects is doubled and tripled?
(iii) the masses of both objects are doubled?

2 What is the acceleration of free fall?

3 . Amit buys few grams of gold at the poles as per the instruction of one of his friends. He
hands over the same when he meets him at the equator. Will the friend agree with the
weight of gold bought? If not, why? [Hint: The value of g is greater at the poles than at the
equator.]

4 Why will a sheet of paper fall slower than one that is crumpled into a ball?

5 Gravitational force on the surface of the moon is only 1/6 as strong as gravitational force
on the earth. What is the weight in newtons of a 10 kg object on the moon and on the
earth?

6 A ball is thrown vertically upwards with a velocity of 49 m/s. Calculate
(i) the maximum height to which it rises,
(ii) the total time it takes to return to the surface of the earth.

7. A stone is released from the top of a tower of height 19.6 m.Calculate its final velocity
just before touching the ground.

8 . A stone is thrown vertically upward with an initial velocity of 40 m/s. Taking g = 10 m/s2,
find the maximum height reached by the stone. What is the net displacement and the total
distance covered by the stone?

9. Calculate the force of gravitation between the earth and the Sun, given that the mass of
the earth = 6 x 10%* kg and of the Sun = 2 x 103° kg. The average distance between the two is
1.5 x 101 m.

10 A stoneis allowed to fall from the top of a tower 100 m high and at the same time
another stone is projected vertically upwards from the ground with a velocity of 25 m/s.
Calculate when and where the two stones will meet.

11 A ball thrown up vertically returns to the thrower after 6 s. Find
(a) the velocity with which it was thrown up,

(b) the maximum height it reaches, and

(c) its position after 4 s.



